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1 48.0% 27.6% 1 389,784 1 535,678 1 642,934
2 43.1% 22.6% 2 377,704 2 524,586 2 616,77
3 42.6% 22.5% 3 374,968 3 514,624 3 594,181
4 40.9% 20.5% 4 373,51% 4 508,001 4 587,64
5 40.3% 21.7%5 370,632 5 505,441 5 579,91
6 40.0% 21.9% 6 359,524 6 502,768 6 577,66}
7 39.6% 20.5% 7 357,666 7 495,87% 7 577,61
8 39.5% 22.0% 8 356,783 8 495,250 8 567,75
9 38.0% 19.8% 9 350,790 9 492,412 9 564,07
10 37.6% 20.2%10 347,806 10 489,72110 556,10
11 37.4% 18.6%11 346,453 11 480,610 11 550,21
12 35.2% 18.7%12 334,37212 478,392 12 548,01
13 35.0% 18.7%13 322,11813 475,39313 547,631
14 34.6% 16.9%14 318,429 14 469,681 14 535,84
15 33.9% 17.0%15 318,426 15 464,892 15 535,34
16 33.3% 16.5%16 311,047 16 469,153 16 533,88
17 33.1% 18.8%17 303,673 17 451,189 17 533,191
18 32.4% 16.1%18 298,361 18 448,950 18 496,16]
19 32.3% 16.4%19 293,184 19 446,331 19 489,951
20 31.8% 16.6%20 290,774 20 396,399 20 419,23
21 28.4% 16.4%21 285,296 21 381,529 21 396,77]
22 28.0% 14.2%22 284,826 22 365,91% 22 356,22
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BMI ALT(GPT) HDL HbAlc LDL
|
1 1631 732 119 415 124 43.29 196 22.8% 64 22.3% 25 9.49 58 |[61.19 82 82.8 13) 13.79 269 58.69 152 33.1¢ 63 66.3 44{ 15.39 6 2.3
2 79 731 40( 40.4 37| 37.4% 438 21.8% 154 17.9% 39 8.6% 257] 56.0% 358 79.2 13) 13.19 159 57.8 112 319 15§ 57.5¢ 13,347 5.99 6] 2.2
3 280 69.3 102 37.1¢ 12§ 36.59 147 21.4% 162 16.89 8 8.19 708 50.6% 219 76.3 440 9.79 162 56.4¢ 30| 31.6 786 56.4 16| 5.8 2l 20
4 666 67.2 234 34.19 228 33.29 2,639 20.8% 57 16.2% 33 7.2% 50 50.5¢ 1,029 73.9 440 9.6% 198 56.4¢ 172 28.7¢ 7,004 55.2 34 5.4 9 1.59
5 268  65.5 119 33.99 87| 32.89 93 20.6% 97| 16.29 20 7.094 203 44.4¢ 708 73.3 26( 9.5 329 54.9 232 27.0% 250 54.7° 613 4.8 3 1.09
6 851 63.2 32| 33.7% 31 32.6% 196 20.39 87| 16.1 55 6.49 190 42.09 200 72.7 26/ 9.1 281} 52.09 374 26.9 124,052 54.6% 25| 4.6 102 0.89
7 88 59.5 88 33.29 88 32.0¢ 45,653 20.1% 129 15.7% 28 6.19 839 41.69 327 71.2 77 9.0% 134 50.69 122 26.7¢ 1,099 54.4 31) 3.89 16( 0.89
8 280 54.5 272} 33.19 262 31.9 19| 20.0% 72| 15.7% 19 5.49 350 36.29 384 71.1 83 86 405 49.39 119 26.3 519 53.7° 22 3.7 31 0.79
9 591 52.6 176( 32.69 144 31.4 52| 19.6% 271 15.7% 32 5.4 125 35.69 1,424 71.1% 22| 8.39 212} 46.99 73] 25.4 318 53.4 19 3.29 4 0.69
10 430 512 181} 30.29 541 31.4 338 19.6 43] 15.6% 36 5.2 287] 33.4% 424 71.0% 68| 8.3 105,65 46.5% 480 23.9 287] 53.1 21) 3.19 2l 0.69
1 448 49.9¢ 68,632 30.2% 245 28.5% 55| 19.2 35,408 15.6% 31 5.2 192 32.1¢ 67 70.5 39 8.2¢ 646( 46.49 124 23.0¢ 52| 52.5 53 3.19 5| 0.69
12 92| 46.0¢ 138 30.1¢ 169 28.29 113 19.0% 106 15.4% 24 519 88| 32.0% 32§ 68.9 989 7.89 44{ 46.39 63] 22.9 331 52.5 28 2.9 6 0.69
13 459 451 504 29.8 63,594 28.0% 86| 18.2% 15| 15.2% 85 5.04 513 30.3% 1,189 68.9 45 7.6% 5,954 46.39 152 22.1 444 51.7 131 2.7 3 0.69
14 632 42.2 254 29.6% 543 27.19 147 17.9% 90 15.1% 100 5.09 76| 28.7% 29§ 64.6 127 7.49 768 44.5 57] 21.5 418 50.9 52| 2.6 1,063 0.5
15 345 41.6 283 29.3 453 26.89 301 17.8% 296( 14.89 46 4.8% 233 28.3% 337] 56.6 45 6.6% 300 43.7° 207 21.4 133 50.2 21| 2.4% 3 0.5
16 1,959 39.9 138 29.2 144 26.79 48| 17.5% 1,841 14.59 13 479 78] 27.2 353 56.0 131 6.59 867] 43.2 21 21.2 221) 48.0 10 2.2 9 0.59
17 619 38.4 3,624 28.6 11§ 25.7% 171 17.2% 38| 14.39 80| 4.6% 157 26.49 7,033 55.4¢ 38 6.3 271 43.0 44,195 19.59 329 47.3 2l 21 3 0.49
18 582 36.6 399 28.69 242 25.19 77| 16.8% 86 13.7 37 4.59 53,724 23.7% 120,733 53.2% 86| 6.2 365( 42.5% 91 19.2 279 46.6 2| 2.09 2l 0.39
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1 2.229 1.269 1.639 1.779 1.909
2 1.274 1.25¢ 1.279 1.264 1.219
3 1.089 1.159 1.109 1.169 1.209
4 1.049 1.119 1.019 1.109 1.079
5 1.009 1.119 0.99¢ 1.084 1.069
6 0.969 1.079 0.999 1.039 0.93¢9
7| 0.95¢ 0.959 0.969 1.009 0.89¢9
8 0.939 0.909 0.969 0.98¢ 0.829
9 0.929 0.819 0.959 0.889 0.779
10 0.889 0.819 0.889 0.879 0.779
11 0.819 0.80¢ 0.88¢ 0.769 0.759
12 0.719 0.769 0.829 0.759 0.749
13 0.69¢ 0.759 0.759 0.729 0.65¢9
14 0.699 0.75¢9 0.66¢ 0.719 0.619
15 0.689 0.659 0.619 0.69¢ 0.58¢9
16 0.689 0.649 0.609 0.689 0.58¢9
17 0.6649 0.59¢ 0.59¢ 0.649 0.549
18 0.649 0.59¢ 0.599 0.639 0.479
19 0.58¢ 0.569 0.579 0.639 0.469
20 0.564 0.56¢ 0.55¢ 0.59¢ 0.439
21 0.459 0.559 0.539 0.579 0.30¢9
22 0.28¢9 0.55¢ 0.009 0.579 0.00¢9
23 0.279 0.42¢9 0.00¢9 0.42¢9 0.009
24| 0.279 0.289 0.009 0.009 0.00¢9
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